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On-the-gpot Research on L ocad-rejection Transient of the
Francis Turbine Installation in the Shiban Hydropower Plant

Peng Jing, Zhang Jian, Cui Xuamning, ShouM eihua, Chang Jinshi
(College of W ater Conservancy and Civil Engineering, ChinaA gricultural U niversity, Beijing 100083, China)

Abstract In the Shiban hydropow er plant there are projected 3 turbine unitw ith output 3%

33MW , but in fact there are 4 turbine unit with output 3x 35MW + 1x 10MW , therefore
real installation discharge is increased and transient instantaneous paraneters were
deteriorated On-the-got test on the load-rejection transient of francis turbinesw ith output
35 MW and output 10 MW regectively were carried out and the improved transient
instantaneous behavior was obtained The Shiban hydropow er plant must utilize separation
bus mode in order to avoid load-rejection of the full hydropower plant and to mprove
transient behavior. A nd the hydropow er plantmust rebuild regulators and realize two-partial
closing of guide system. The control lav s of guide system were optimized w ith the aid of
computer for the snall turbine unit: Ta= 3s, Te= 2.85s, Tq= 2.3 s for the large turbine
unit: Ta=4s, Te= 3.55 T¢=3.15s
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